#@F 3. ®

Antal procent (antal saknas)

namn:

x30% =12.9

x30% = 4.8

x70% = 28

x 10% = 6.6

x 10% = 4.9

x20% =4.2

x90% =459

x 50% = 48.5

x70% = 32.9

x 10% =17.5

www.snowmath.com

Datum:

x 60% = 16.2

x70% = 18.2

x 80% = 33.6

x 50% = 47

x60% =114

x 30% = 23.1

x 80% = 51.2

x 50% =40

x 10% = 8.8

x70% = 39.9

Poéng:



https://www.snowmath.com

+@F 3. ®

Antal procent (antal saknas)

namn:

43 x30% = 12.9

16 x 30% = 4.8

40 x70% = 28

66 x 10% = 6.6

49 x 10% = 4.9

21 x20% = 4.2

51 x90% = 45.9

97 x 50% = 48.5

47 x70% = 32.9

75 % 10% = 7.5

Datum:

27 x60% = 16.2

26 x70% = 18.2

42 x 80% = 33.6

94 x 50% = 47

19 x60% =114

77 % 30% = 23.1

64 x 80% = 51.2

80 x 50% = 40

88 x 10% = 8.8

57 x70% = 39.9
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Poéng:
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